Appendix: Stata code for the simulated example.

	Variable
	Description

	d_exit
	Last date on which individual is known to be alive

	dead
	Indicator of whether individual died during follow-up

	d_entry
	Date of entry into study

	dob
	Date of birth

	i_rate
	Incidence rate of cancer of interest

	prob_dy
	Probability of dying from cancer of interest within t years of diagnosis

	_merge
	Variable generated by the Stata command merge. The command merge cannot be run if _merge already exists.

	_t
	Stata generated variable equal to the age of the individual when they leave the follow-up stratum

	_t0
	Stata generated variable equal to the age of the individual when they enter the follow-up stratum


Note: all dates are in days from 1 January 1960.

In this example, the file C:\data\seer_surv.dta is a Stata dataset containing three variables: calendar year of diagnosis (year), years from diagnosis (fromend), and prob_dy , which is one minus the relative survival for fromend years in an individual diagnosed with the particular cancer in year. The Stata dataset C:\data\seer_rates.dta, also contains three variables: year, ageband, and the incidence rate of the particular cancer in each year and ageband. The following Stata code was used to split the follow-up into the required strata, merge it with data on incidence and survival, and to calculate the expected numbers of deaths.

stset d_exit, failure(dead) enter(time d_entry) scale(365.25) id(id)

stsplit fromend, after(time=d_exit) at(-1(1)-9)

stsplit ageband, after(time=dob) at(50(5)65)

stsplit year, every(1) after(time=0)

replace fromend=-fromend

replace year=year+1960

sort year fromend

merge year fromend using "C:\data\seer_surv"

drop _merge

sort year ageband

merge year ageband using "C:\data\seer_rates"

gen expect=(_t-_t0)*i_rate*prob_dy/100000

